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7 100kN/m%#8%2% | 1.00 | 000 ~ 386 16298 |3m&E{BZ%| 000 ~ 227| 4.06 20.51 | 100kN/m%i#8z5 | 1.00 | 1053 ~ 99.11 162.98 |3mE#BZB| 2500 ~ 99.11| 4.06 20.51
s 1.00 | 38 ~ 1165 100.00 | NS | 227 ~ 1165] 3.00 15.16 Zh st 1.00 | 6.00 ~ 1053 100.00 | ThLS | 65,00 ~ 2500 3.00 1516
2 100kN/m##8x5 | 1.00 | 0.00 ~ 361 16841 |3mZE#BZ 5| 000 ~ 212| 394 19.94 | 100kN/m#£#B25 | .00 | 1059 ~ 9485 | 15841 |3mERBZB| 3000 ~ 9485 | 3.94 19.94
s 1.00 | 861 ~ 1140 100.00 | #nLsYy | 212 ~ 1140 3.00 156.16 Zh st 1.00 | 5.00 ~ 10.59 100.00 | =hLst | 6.00 ~ 3000 3.00 15.16
3 100kN/m##8z% | 1.00 | 000 ~ 377| 161.26 |3mEFBZ%| 000 ~ 221|401 20.27 | 100kN/miZE#Bz3 | 1.00 | 1053 ~ 10289 161.26 |3m%EBZB| 2500 ~ 10289 4.01 20.27
s 1.00 | 377 ~ 1155 100.00 | NS | 221 ~ 1155] 3.00 15.16 st 1.00 | 6.00 ~ 1053 100.00 | ThLS | 65.00 ~ 2500 3.00 1516
4 100kN/m%#8%% | 1.00 | 000 ~ 368| 159.60 |3mEBZB| 000 ~ 215| 3.97 20.07 | 100kiN/mz#Bz2 | .00 | 1056 ~ 11201 15960 |3mEBZB| 3000 ~ 11201| 5.97 20.07
s 1.00 | 568 ~ 1146 100.00 | =nLSY | 2156 ~ 1146 3.00 156.16 st 1.00 | 6.00 ~ 1056 100.00 | =nLSt | 6.00 ~ 3000 3.00 15.16
5 100kN/m##8%2% | 1.00 )| 000 ~ 390 16357 |3mE{BZ%| 000 ~ 229| 4.08 20.60 | 100kN/m%ZE#BZ% | 1.00 | 1054 ~ 9510 16367 |3mEBAD| 2500 ~ 9510 | 4.08 20.60
s 1.00 | 390 ~ 1168 100.00 | ENLS | 229 ~ 1168] 3.00 15.16 st 1.00 | 6.00 ~ 10.54 100.00 | =nLs | 6.00 ~ 2500 3.00 1516
P 100kN/m%#8%z% | 1.00 | 000 ~ 392 16391 |3mE{BZ%| 000 ~ 231| 4.09 20.66 | 100kN/m%ZE#BAZ% | 1.00 | 1054 ~ 94.87| 16391 |3mERBAD| 2500 ~ 9487 | 4.09 20.66
s 1.00 | 392 ~ 1170 100.00 | NS | 231 ~ 11.70] 3.00 15.16 FhnLst 1.00 | 6.00 ~ 10.54 100.00 | =nLs | 6.00 ~ 2500 | 3.00 1516
- 100kN/m#EBZ5| 1.00 | 000 ~ 392 16391 |3mZEBZB| 000 ~ 231|409 20.66 | 100kN/m%E#BZ5 | 1.00 | 10564 ~ 9049 163.91 |3mEBZB| 2500 ~ 90.49| 4.09 20.66
ThLst 1.00 | 392 ~ 1170 100.00 | NS | 231 ~ 11.70] 3.00 15.16 FhLst 1.00 | 500 ~ 1054 100.00 | #nst | .00 ~ 2500 5.00 15.16
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhs ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




